BATL.DOR

A MEMBER OF THE ABB GROUP

BALDORRELIANCENFR

Product Information Packet

410B

1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEFR Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Part Detail

Revision: AX Status: PRD/A Change #: Proprietary: No

Type: AC Prod. Type: 3528C Elec. Spec: GOWG0001 CD Diagram:

Enclosure: TENV Mfg Plant: Mech. Spec: G10-168 Layout:

Frame: Mounting: F1 Poles: 02 Created Date: 08-08-2007
Base: RG Rotation: FOS Insulation: B Eff. Date: 04-03-2012
Leads: 4#18 12" LG Literature: Y Elec. Diagram: Replaced By:

Nameplate NP1625

CAT.NO. 410B

HP 1.5 VOLTS 115/230
PHASE 1 AMPS 13.8/6.9
HZ 60 RPM 3600
SER.NO

SPEC. G10-168-1

Page 2 0f 10 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BAILDORRELIANCERFE Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Parts List

Part Number Description Quantity
SA037588 SA G10-168-1 1.000 EA
RA033613 RA G10-168-1 1.000 EA
OC3016F12SP CYL OIL CAP 16MFD/370V 1.000 EA
G8BA3000A01 BASE, MACH 1.000 EA
19XX2510A14 1/4-10 X 7/8 HEX HD PLASTITE SCREW 4.000 EA
HW1000A25 1/4 SAE FLAT WASHER (FS) 4.000 EA
SP9000SP 80600BJ A-H OR 1520237-2 TYCO;2PST,125/2 1.000 EA
HW1003A50 LOCKWASHER,1/2",EXT.TOOTHZINC PLATED 1.000 EA
HAG6053A01ZP CLAMP, CAPACITOR 2" DIA, WHITE ZINC PLAT 1.000 EA
51XN1032A04 10-32 X 0.25 HX WS SL SR 2.000 EA
XY1032A02 10-32 HEX NUT DIRECTIONAL SERRATION 2.000 EA
LD5000A05 LEAD ASSY, JUMPER FOR CAP 1.000 EA
G8CB4500A02 G8-272 BASE COVER,STPD X PLATED 1.000 EA
51XW0832A07 8-32 X .44, TAPTITE Il, HEX WSHR SLTD SE 2.000 EA
RM1005A01SP BUMPER- #2089 (R-R CO) 4.000 EA
15XF1032A10 10-32X5/8 PIN HD PHL TY FSEE JT 4.000 EA
G8EP3900A01SP ENDPLATE, MACH 1.000 EA
G8EP3900A01SP ENDPLATE, MACH 1.000 EA
HW5100A06 W2420-025 WVY WSHR (WB) 1.000 EA
HW5100A06 W2420-025 WVY WSHR (WB) 1.000 EA
HA1000A34 DR2463A .02 BRG GUARD B N 4.000 EA
HA1025A03 FELT WSH 2.1875 OD X 1.170 ID X .25 #321 2.000 EA
HA3100A14 THRUBOLT 10-32 X 7.875 4.000 EA
XY1032A02 10-32 HEX NUT DIRECTIONAL SERRATION 4.000 EA

Page 30f 10 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BAILDORRELIANCERFE Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Parts List (continued)

Part Number Description Quantity
19XW2520A16 SCREW,1/4-20X1 TAPTITE-Il OR ROLOC 91 8.000 EA
HW3020E04 1/8 X 3/8 A GROOVE PIN (DRIV-LOCK #118 2.000 EA
HA6100SP WHEEL FLANGE, CAST 4.000 EA
HA2050A01 G10-18SP 1-1/2 DIA C.R.STC1137(WELKER) 2.000 EA
XYB8809A62SP 7/8-9 NUT L.H. HEX (NC) 1.000 EA
XY8809A12SP 7/8-9 NUT R.H. HEX (NC) 1.000 EA
RM1010A05SP VNYL CAP 1.375-16 701-89 BLACK S/R Q=1 2.000 EA
WD4502A01A02 CONDUIT BOX W/KNOCKOUTS, FOR 7,8 & 10 GR 1.000 EA
51XB1016A06 10-16X3/8 HXWSSLD SERTYB 2.000 EA
WD4503A01 LID R860 HANDY BOX LID, USED WITH BOX WD 1.000 EA
MG2000A02 RUST VETO-377-HF HOUGHTON 0.001 GA
85XU0407S04 4X1/4 U DRIVE PIN STAINLESS 1.000 EA
WD4006B01 TYPE O/B+ 3M SCOTCHLOK WIRE CONNECTOR 1.000 EA
MJ1000A75 GREASE, POLYREX EM EXXON 0.050 LB
MG1000G01 400-0116 BATTLESHIP GRAY LACQUER (55G) 0.017 GA
LB1092 LABEL, WARNING BUFFERS 1.000 EA
LB1009 LABEL,ROTATION DIRECTION (ON ROLLS) 1.000 EA
WD1000A15 3-520132-2 AMP FLAG (4M/RL NON-CANC/NON- 2.000 EA
LB1119 WARNING LABEL 1.000 EA
LB1125C01 STD (STOCK) CARTON LABEL BALDOR WITH FLA 1.000 EA
LB1076 LABEL, "ON" AND "OFF" 1.000 EA
LC0279A01 CONNECTION LABEL X 1.000 EA
NP1625 BUFFER, ALUM, UL 1.000 EA
37PA1016 PACKAGING GROUP 1.000 EA

Page 4 of 10 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEFR Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Parts List (continued)
Part Number Description

MN906 Baldor Buffer 9/10

Quantity
1.000 EA

Page 5010 BALDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEFR Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Accessories

Part Number Description Multiplier
GA16 PEDESTAL INDUSTRIAL, CAST IRON 6" - 10" A8
GAl4 PEDESTAL FABRICATED STEEL W/SHELVES A8
GA20 PEDESTAL INDUSTRIAL, CAST IRON 8"-14" A8
GA20E PEDESTAL LIGHT INDUSTRIAL,STEEL A8
Al103 10" COTTON BUFFING WHEEL (GOAP3004) A8
BQ1-015-CC 1PH Bake, NEMA 1,110-125 VAC, 50/60Hz E7
BQ1-015-CP 1PH Brake, Panel 110-125 VAC, 50/60 Hz E7

Page 6 of 10 BAILLDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BAILDORRELIANCERFE Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Performance Data at 230V, 60Hz, 1.5HP (Typical performance - Not guaranteed values)

General Characteristics

Full Load Torque: 2.4 LB-FT Start Configuration: DOL

No-Load Current: 2.75 Amps Break-Down Torque: 3.6 LB-FT

Line-line Res. @ 25°C.: 1.97 Ohms A Ph /7.6 Ohms B Ph Pull-Up Torque: 0.5LB-FT

Temp. Rise @ Rated Load: Locked-Rotor Torque: 1.0 LB-FT

Temp. Rise @ S.F. Load: Starting Current: 24.0 Amps

Load Characteristics

% of Rated Load 25 50 75 100 125 150 S.F.
Power Factor: 49.0 71.0 80.0 86.0 88.0 0.0 0.0
Efficiency: 70.5 76.4 78.4 74.1 63.3 0.0 0.0
Speed: 3512.0 3429.0 3330.0 3200.0 2951.0 0.0 0.0
Line Amperes: 35 4.5 5.83 7.65 10.95 0.0 0.0

Page 70f 10 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCERF Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

Performance Graph at 230V, 60Hz, 1.5HP Typical performance - Not guaranteed values

BALDOR ELECTRIC COMPANY WINDING # GOWG0001
, 1.5HP 1PH 60 HZ 3600 RPM 230V 3528C
Typical performance - not guaranteed values. TORQUES(LB-FT): PO=3.6 PU=0.5 LR=1 LRA=24
TORQUE AMPS
GEFF TORQUE
WE (18-F1) RPM WATTS AMPS w———— — — #
WATTS — — — — — PF
100F 4.0r  3,570F  2,000F 20————
s r [ T o—
L I I I L T
95F 3.8F 3,520F  1,900F 19F - /
[ [ [ [ [ ~ 7
aor 3.6 3,470 1,800 18 ~ /
— F F — . ~
[ [ [ [ [ ~ //
85 3.4F 3,420 1,700 17F AN
sof 3.2F  3,370F 1,600 16}
75F 3.0F 3,320F 1,500F 15F
70k 2.8F 3,270F  1,400fF 14f
65F 2.6F 3,220F 1,300F 13F
60F 2.4F  3,170F 1,200 12F
55F 2.2F  3120F 1,100 11f
50F 2.0F 3,070F 1,000F 10f
45F 1.8F  3,020F 900F of
40F 1.6F 2,970F 800F 8k
35F 1.4F  2,920F 700F 7F
30F 1.2F  2870F 600 6F
25k 1.0F  2820F 500F sk
20F 0.8F 2,770F 400 4f
15F 0.6F 2,720F 300F 3f
10F 0.4F  2,670F 200fF 2F
sk 0.2F 2,620F 100 1§
ot 00t 2570t ot 0 ‘ L L L L L
’ 0 25 50 75 100 125
# Guest 11/9/2012 ACPERF, record # 14120 PERCENT OF RATED OUTPUT (1.5 HP)

Page 8 of 10 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800




BALDORRELIANCERF Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

©
©
1)
|
o
o
(528) = 29.94
.88-9 .88-9
! RH THD'S
LH THD'S 15.25 4.75 .88[—
6.59
7.63
[, NAMEPLATE |
L]
/ _ ! — - — 28— A
\ . ] A )
"
VINYL CAP
(EA. END) 11.54 |
.8750 .8750
.8745 4 HOLES .8745 8.24
.31 DIA.
|
N
i o j 100 F - 'ﬂ
T — —

\u - .- J }
25
7.25 .38
7.75

| 8.00 |
8.50 |
24.75
@
T
o BALDOR ELECTRIC C 2
REV:[ H JUPDATE & LOAD TO ACAD, IDL TO EM21 O. Y
SCALE: .35 [BY: oD | REVISED:  11/19/96 N
FILE:  AAA00035993 | TOR: 0103074 STD 10" BUFFER (526C)

Page 90of 10 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCERF Product Information Packet: 410B - 1.5HP,3600RPM,1PH,60HZ,3528C,BUFF

CD0279
MOTOR BASE
ON/OFF SWITCH
1-BLU (USE #16 AWG LEADS ON SWITCH)
2—WHT
WHT WHT
lx 3-0RG S T T o UNE A
PHASE sS4 -0 LINE B
.m TS 4-YEL [ GREEN
(8)
B PHASE
WHT
P1

WHT/GRY BLK

J_ - LAMP SOCKET

(WHEN USED)

whT/RED | AP
S1 S4 JOIN
HIGH 1,P1 4 2,3,P2
LOW 1,3,P1 | 2,4,P2 -

OPTIONAL EUROPEAN CORD
ON/OFF SWITCH

WHT BLUE
S1 8 LINE A
BLK | BROWN
NOTES: S4 * - LINE B
1. CONNECTIONS ARE SHOWN FOR CW ROQTATION FACING END GREEN/YELLOW STRIPE

OPPOSITE SHAFT EXTENSION (OPP STD). FOR CCW

ROTATION, INTERCHANGE (5) AND (8) INTERNALLY.
2. LEAD COLORS ARE OPTIONAL. LEADS MUST ALWAYS BE
NUMBERED AS SHOWN.
(@}
O
S
REV. DESC: ADDED DIAGRAM FOR OPTIONAL EUROPEAN CORD N
REV. LTR: D [BY: EAH [REVISED: 10/11/99 11:50 TDR: 0192460 BALDOR ELECTRIC Co. ©
FILE: AAA00D28193 MDL: —
6£200d0 VL TYPE C, DV, FIX, OPT. LIGHTED EYESHIELD, GRINDER
Page 10 of 10 BAILLDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



